Name:________________________________________                 		Box:___________  
Quiz 6 (3 pts max)
 
1. (3 points – 0.1 point per blank)  Fill in the chart below, indicating how many bytes must be READ from memory and how many bytes must be WRITTEN to memory by each instruction AFTER THE INSTRUCTION HAS BEEN FETCHED.
						
  	Assembly  Code	  		# Bytes Read From Memory                 # Bytes Written to Memory 
       	LDX      #$2A					0				0
	LDX        $2A					2				0
            	ADDA   $4000					1				0
            	STD    	$12,X                              			0                                             	2 
              	RTS                                                                               2                                                      	0

a.	ADDD $804	    				_____				_____


b. 	ADDD #$804					_____				_____


c.	JSR $4060	    				_____				_____
		

d.	JSR [$4060,X]					_____				_____


e.	MOVW A,X,  B,Y				_____				_____


f.	INC  5,X					_____				_____


g.	INC  [5,X]					_____				_____


h.	MOVB	#4, $0800				_____				_____


i.	PSHD						_____				_____


j.	LSL	[6,SP]					_____				_____				

k.	LDY       $1234, X                  			_____				_____

l.	LEAY    $1234, X				_____				_____				
m. TARG:  BRCLR D,X,$20,TARG			_____				_____

n.	BCLR  $0800,$F0				_____				_____

o.           BSET $0800,Y,$F0				_____				_____

p.	RTI		 				_____				_____
